
BSG YA4 CHR & BSG YA4 BLK
Brush Guard Installation Instructions
for Yamaha G22 2002-Present Models

Always remember to wear appropriate eye protection!

1.  Remove the front bumper from cart (Figure 1).
2.  Place the two 2-3/4” bolts, from your mounting kit, through the 
     front of the mounting plate and slide the 2” spacers onto the bolts 
     from the back of the mounting plate (Figure 2).
3.  Mount the brush guard onto the front of the frame of the cart 
     using two washers and two nuts (Figure 3).

NOTE:  Leave all hardware loose until fi nal step.

4.  Using the two 1” bolts, two washers, and two nuts attach the 
     mounting tabs of the brush guard to the top holes of the frame 
     (Figure 4).
5.  Securely tighten all of the hardware.

Bolt 2 Places

Mounting 
Tab

Figure 4

Figure 3

Spacers

Figure 2

Figure 1

 Parts List

QTY  Description
    1  Brush Guard
    2  3/8-16 x 2-3/4”  Bolts
    2  3/8-16 x 1” Bolts
    4  3/8” Nyloc Nuts
    4  3/8” Washers
    2  2” Black Spacers

Copyright© 1997-2010. All Rights Reserved.


